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Guess Paper – 2009

Class – XII
Subject – MathS
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1. If f(x) =                                     show that f{f(x)} is an Identify function.
2. Solve for x        tan-1 [     ] =          tan-1x
3. Construct  3x2 matrix If A = [aij] where aij = {           }
4. For what value of  K, the matrix    [     ]  has no Inverse.

5.   sin x sin(cos x) dx

6.   (sin2x/2 – cos2x/2) dx

7. Find x if  │      │  =    │     │
         
8. Find P such that lines      =      =         and       =       =         are perpendicular to each other. 
9. If   a = 2j+2 k      b = 3i – 5k find  a x b

10. Find a vector in the direction of a = i – 2j whose magnitude is 7.
Section – B
1. Let A = R – {3} and B = R – {1}, consider the function f : A     B defined by f(x) =           IS function is bijection or not? Explain.
2. Prove that sin-1(   ) + cos-1 (   ) + tan-1(   ) = π          Or 
Write simplest form  tan-1  [                ]

3. Find the point (s) of discontinuity of function f  

f(x) = [               ]
4. If x = sin t  ; y = sin pt

Prove That
(1 – x2) d2y – xdy + p2y = 0




 dx2     dx

or


x =      a sin-1t,

y =       a cos-1t

show that
= 
5. Prove that curves y2 = 4ax and xy = c2 cut at right angles If c4 = 32 a4
Or
Prove that y =       
            is increasing function of Q in [o, π/2]


6.  


  

or


  2   

dx


7. Solve the following differential Equation     x         =      y -     x2 + y2
8. Solve the following differential Equation   (1 + x2)       – 2xy  =  (x2 + 1) (x2 + 1)

9. Show that area of parallelogram having diagonals (3i + j – 2k) and (i – 3j + 4k) is 5 √3 sq unit.
10. Find shortest distance  between the lines 
r = i + j +λ  (2i – j + k)

r = 2i + j – k + μ (3i – 5j + 2k)

11. Prove that 




                     = (1 – x3)2
12. In a school there are 1000 students, out of which 430 are girls, It is known that out of 430, 10% of the girls study is class XII, what is the probability that a student chosen randomly studies in class XII given that chosen student is a girl.

Section – C

1. Using matrices, solve the following system of linear equation x – y = 3 ;  2x + 3y + 4z = 17 ;     y + 2z = 7      
2. Show that the semi vertical angle of right circular cone of given total surface area and maximum volume is sin-1
Or

A point on hypotenuse of right angled triangle is at a distance ‘a’ and ‘b’ from the sides. Show that the length of hypotenuse is at least (a2/3 + b2/3)3/2
3.       cot-1 (1 – x + x2) dx              
4. Find the area of smaller region bounded by ellipse        +       = 1  and straight line        +       = 1 

5. Find the distance of point (-2, 3, -4) from the line            =               =                  measured parallel to the plane 4x + 12y – 3z + 1 = 0

6. Bag I contains 3 Red and 4 Black balls and Bag II contain 4 Red and 5 Black balls. One ball in transferred from Bag I to Bag II and then a ball is drawn from bag II. The ball so drawn is found to be red in colour. Find the probability that the transferred ball is black. 

7. A merchant plan to sell two types of computer a desktop and portable modle that will cost Rs 25000 and Rs 40000 respectively. He estimates that the total monthly demand of computer will not exceed 250 units. Determine the number of unit of each type of computers which the merchant should stock to get maximum profit. If he does not want to invest more than Rs 70 Lakhs and If his profit on the desktop model is Rs 4500 and on portable modle is Rs 5000. 
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